' MENDELIAN GENETICS -
. LEVEL 1 ' S
1.“Inhumans,bmwncymmdmnimmwblmcm”xxpmﬂ&emmingofmstmmem .
/70 ‘/Ac @//clt - brown eyes (s /m:unl} I // show n Tl
h&né‘&fc-
a) What is the genotype of 2 person:
- homozygous for brown eyes __B__&_
- homozygous for blue eyes ék
- heterozygous for brown cyes_&b_

2.IfasmaazbmatguﬁmgigismamdmamghwagmapigmdaﬁnfmciZfospringhave
mwﬁ:mwb&ti&tbcgmtypeoftﬁesmmthmgﬁmp&g? . Iqﬁ

~ 5moo+l\ coudt O ~ rowgth coea g .
8) Give the reason you think smooth coat to bea?m:&;mn Or recessive chmugssnc.
meo (- 1% +5 c)a nl;‘nc.n"- L/‘— 4'—),," roué ot is ;c./’ea,rg J -

t+le = erefrom
b) What wouk&e thb gcér?azype of a heterozygous smooth coat guinea pig? o
. ¢
¢) What is the plﬁ:%‘z?p}? /of a homozygous rough coat guinea pig? ace,

d) If the genotype of a smooth coat guinea pig is 8s, draw the gametes that could possibly
form if the animal were; -
Ss

male S ;
< \\ /N
& O ©OX®
3. In humans, curly hair (C) is dominant to straight hair (c). A man with curly hair whose mother
has straight hair marries 2 woman with straight hair, What are the possible genotypes of :
Cc. b)hismo&xch C¢ _—
ce " d)mcirfaizr.chﬂam So X LCe
se? cc.

fermale

) the man
c) his wife

L4
€) What are the chances of their first child having curly hair? _ Lol
f) What acg the chances of their second child having curly hair? __S 2 /&

4. Give one similarity and one difference between the following pairs:
’ ‘ - difference )
. ...rcu,(j:slf. I-Za' )y ‘how;

a) dominax;x and recessive traits - }) , W reprisen™ .‘»3
alleles, ‘
b) heterozygous and homozygous

- both involue
2 alleles

if\ P~ b\.amalyj'v) jtapt)ra.
- ’-\omaz,j).u,{ = L‘,*l\

alleles He sevmme .

L&‘/-tfoly ewy 3 bo? &
alleles ,;?Acmnl.



" MENDELIAN GENETICS
' : - LlEVEL2 .
1. In humans, might blindness (N) is dominant over normal vision (n).
a) Give the possible genotypes for an individual who has
- night blindness NN _or N

- normal vision nn
b) What are the possible genotypes for the following people:
- & person with night blindness whose mother was normal /\/’\

- the mother of & child with night blindness AN e o7 na
- & normal visioned woman whose mother was night blind nn
- the night blind mother of a normal visioned danghter Nn

¢} A normal visioned man marries a normal visioned woman, What are the chances that
ﬁa&rﬁmchﬂdwin!;awmd‘{isim? LN Y n A
| | 10°fs A —> a’J/ m// heve f“’""c/ VISion,

d) A man with night blindness whose mother was normal and whose father was night blind .
muﬁ;&amvyhoismﬂbm%vhmﬁwmmwwﬁn&Whaxkindofchﬂdmn
can they have in what proportion N e A .

clx(/a'w—\ = Seo” N (néL*yMJ) )"’nj/‘ ns ("”Pm’

Give the genotypes of :
-ﬁreman_[y__’}_, his mother _ # lﬁsfgmer__(_\_/:_
-thewoman_ N7 herbmthcr._{.\_/.ﬁ__

%a migoatgany h;s sﬁ;ﬁep gégg: éﬂwwvw}. A recessive mutation results in glossy (g)

a) What are the possible genotypes of broccoli having: :
dull green Jeaves? (n O orG,j glossy leaves? =

b) Market gardners never use seeds from plossy leaf plants, vet these plants still .
from time to time. Why do you think this y ? pklc_ yct{-l\‘_?l,}w&?pp;a;aducmj

%&Ai ere La‘}'erozyj s,

¢) If you uproot leaf plants when they appear, explain how this practise may or may
notbesmmmm&egemfmglmym;m 1+ wll redeee +ie
o o.//t/c) AJ 7(‘40( T e ¥ Ay +o

‘pﬂ' [ oc :
[°4 ‘7
eli}una}c ,-¥ 2 Ic ‘H'C-"(. L now Eadq we y 4y ,alc”.},{‘y

‘\(,lc‘raz,y?a fes,




MENDELIAN GENETICS
‘ LEVEL 3

1. In humans freckles (F) are dominant to normal skin (f). A woman with normal skin tone marries
a man with freckles. They have seven children, five of which are normal and two of which have
freckles. List the genotypes of the parents and children.

Eirst: Write down the allele designations /
F - Krec. les -3

Second: Write down the actual cross
P [F «FF
Third: Organize your Punnett square

= F_7 % FT Yo ded- Z—‘:
1 S-DJO“ e
FEEE sonpr S
- 7 Chddrta =

CL“[ rén Fﬁ

~

Fourth: Count out the phenotype ratios

s7Y Freckles
oy rocend

p\n

2. In humans free car lobes (E) are dominant to attached ear lobes (¢). A man with free ear lobes,
whose mother had attached ear lobes, marries a woman with attached ear lobes, both of whose
parents had free ear lobes. They have 5 children with free ear lobes and 1 with attached ear lobes.
List the genotypes of all the people mentioned.

First: Write down the allele designations
F - ﬁrac cor lodes

-

e - a_"[“‘L‘/ o ar /o AdJ

Second: Write down the actual cross
F: Fe x ee
Third: Organize your Punnett square . man = E e
F : E e {07’ EQ Wwoermen * c <
i »
¢ Zfe/g,e.? Solee

Fourth: Count out the phenotype ratios

0% Free ear 1253
yp'/a q#ao‘w} Cur IaLl)



MENDELIAN GENETICS
LEVEL 3

3. In watermellons the genes for green colour (G) and short shape (8) are dominant over their
alleles for striped colour and long shape. Suppose a plant heterozygous for both these traits is
crossed with a plant with long striped fruit. What phenotypes would this cross produce and in what
ratio?

First: Write down the allele designations

G—,-E’Mn g- s"“mrcok A" 5wa" Q- 10"}
Second: Write down the actual cross :
A C"? Ao X ggeen | Puavlgp-&}:
Third: Organize your Punnett square ,
q gcﬁy;;ra L Qb"yl G, A’G\ — G"r‘&"\ ¢ SL\"’ ‘;— - 2 f/"

o A5 (ro 6t — Grveen+ long - 2574
Gﬂ- G'a\' QQ —a ayo/’ ?j'/}c‘ - 5'}"”‘)64 ke j‘aor'}" -—-2,(’/;;

go~ ,(:33462::{33'9“}3?““ 257 99“‘* = steped s ’W}_—zr’/,

Fourth: Count out the phenotype ratios
———————— A st

4. (a) In the fruit fly vestigial wings and hairy body are produced by two recessive genes located on
different chromosomes. The normal alleles, long wings and hairless body, are dominant, Suppose a
vestigial winged hairy male is crossed with a female homozygous for long wings and hairless body.
What would be the genotypes and phenotypes of the offspring?

First: Write down the allele designations -
Y B- heirless b - herlesy

A- /0*) Wiags o *vélbgl‘a/ wing s

Second: Write down the actual cross
R " aabh x A ABB

Third: Organize your Punnett square

A B
0‘5 Athgb - [aa'/, 14“55

Fourth: Count out the phenotype ratios ) L
/0"‘/0 Lon} wu\jj/ L&u( €3S y



MENDELIAN GENETICS
LEVEL 3

4 (b) If the F{ generation were interbred, give the phenotype ratio of the F2 generation.
First: Write down the allele designations

S hLvW‘ .
Second: Write down the actual cross
ﬁl A - BL * A & B L
Third: Organ.izé your Punnett square
AB AL o3 ob

A ARE3 TAAaL Hepi A8 )
AL \AABL | nAaLL RaBde 4. 48

o.B A B3 Ae Bé oo BB ce Bb
O\L A‘\ B'L ’qaﬁla 6.6'.35 qa“

Fourth: Count out the phenotype ratios

Feing & Vu// ol + Hairless - Ve b ;:J ' ’U‘WJ
ZDH‘ ulnél,/haf/CSJ : L’? U;:\J}/ 7 ‘j} /
4 (c) Suppose a hairy female heterozygous for long wings were crossed with a vestigial

winged male heterozygous for the hairless characteristic. What would be the phenotype of
the F} generation?

First: Write down the allele designations
sec abon
Second: Write down the actual cross
V‘ E AQLL % O Bb

Third: Organize your Punnett square
AEEELM & Y q 2 ¢ ‘/‘ AA B 5

AL  ab

2¢/ Aabd
a? | Aa 35\00\35 257 a: BL

o b __ﬂa“){aﬁ“')‘ 25/ aabd

Fourth: Count out the phenotype ratios
257. Lw\‘) Wu:‘jj/ ;.,:,»l‘_;)
A o A‘; ’Z(L‘u
Zg,/. \M)I‘z),‘.) w*aJJ/ - |
257 \,e_’%‘).‘“d o 5, heing



MENDELIAN GENETICS
LEVEL 4
1. In humans broad lips (B) are dominant to thin lips (b) and long eyelashes (1) are dominant to
short eyelashes (I). If a woman with thin lips who is heterozygous for long eyelashes marries a man
who is heterozy gous for broad lips and long eyelashes, what percentage of their children will have:
a) broad lips and long eyelashes 3/%
b) broad lips and short eyelashes (/
c) thin lips and long eyelashes 2/
d) thin lips and short eyelashes 1 /¢
First: Write down the allele designations

‘Blér"‘“ ["/‘ L- Hoa /1/1 L /aa.; (,yc—/«)’-e_\
Second: Write down the actual cross
INN YA BbL}
Third: Organize your Punnett square
2L 34 Ny % |
ou gl oL |ikid| Zeit B
S A A T A B -

j, slar#’ ¢I.,¢,L.LJ-CJ

Fourth: Count out the phenotype ratios )t : n b ,S
ID e c’ lips E-’UCH{ “f‘ ‘H-H‘ fu _/;‘,1‘ /*/L)L(J
o lzusq;vé) st% "w‘l") /4""9 /h) 2 $hr

“fg : / : .3 : /

2. In humans nearsightedness (N) is dominant to normal vision (n) and large eyes (E) are dominant
to small eyes (e). If a man heterozygous for both traits marries a woman heterozygous for both
traits, what percentage of their children will be:

a) nearsighted and have large eyes q{ g

b) nearsighted and have small eyes 2/(¢

¢) normal visioned and have large eyes 3/ i¢

d) normal visioped and have small eyes i/
First: Write down the allele designations

N~ f\écrﬁt}l’h}’al N r"””""wp ) E - )‘“Y =3°
Second: Write down the actual cross

5 . /\/An E e X /\/n E v
Third: Organize your Punnett square

_ NE  Ne £ ne

NE /

Ne / }

o [ | 7

re / [

Fourth™ Count out the'phenotypé ratios
70 3.0 3
. Nnurm Ap

3 ‘";L,'J't-, ‘ R
neow S l,,&cl neor .Sld ' . |
IWX aay'm Somall eyes }c«rngy‘} ¢l 2y

L s -




MENDELIAN GENETICS
LEVEL 4

3. In pea plants tallness (T) is dominant to shortniess (t) and round seed (R) is dominant to
wrinkled seed (r). If we cross a heterozygous tall plant that produces wrinkled sceds with a short
plant that produces wrinkled seeds, what percentage of the offspring will be:

a) tall and have round seeds € |

b) tall and have wrinkled seeds S© ¢~

c) short and have round seeds €~

d) short and have wrinkled seeds S© />

First; Write down the allele designations
Tohll & -sheeh R ot
Second: Write down the actual cross

//) o TEer X H o

Third; Organize your Punnett square

Tr -

Fourth: Count out the phenotype riaﬁ os
57) ‘79 S\/;.zf'l ?"U,.(,,,, L[L‘/ W*é—(-

4. Yellow guinea pigs (YY) crossed with white ones (WW) always produce cream-coloured

offspring. Two cream-coloured guinea pigs when crossed produce yellow, cream and white

offspring. G — L 257 VN
a) What are the genotypes of these offspring? 28 7. YV 4§ 50/ Yy y 257 251 Lt
b) What percentage of each colour will appear in the offspring? 257, Y.lf-.- 7 Crom ;"
¢) What kind of cross does this Hlustrate? i/xwwpulz clomintn . /

First: Write down the allele designations

Y elloe Y ke

Second: Write down the actual cross

2NY < VY

" Third; Organize your Punnett square

BT /"f&x/'q;'é'éu‘/‘

LE’ 25 VY
N4 075 Y
5L Y'Y’

),-/

Fourth: Count out the phenotype ratios
25t~ Yellow
s/ - Crom
254 whi




MENDELIAN GENETICS
LEVEL 5

1. In radishes the shape may be long or round or oval. Crosses between long and oval gave 159
long and 156 oval. Crosses between round and oval gave 199 round and 203 oval. Crosses between
long and round gave 576 oval. Crosses between oval and oval gave 121 long, 243 oval and 119

round.

a) What type of inheritance is involved? facem /&,L c/ommm A

IMPORTANT
At this point it is important to determine how the blend is happening (i.e. which alleles are dominant

and which trait indicates a blend. You can tell this from the data.
HINT: a dominant trait crossed with the same dominant trait will produce only that trait. Use this
logic to determine which trait is the blend.

b) Do the cross between: (although not necessarily in this order)

- the long and oval
First; Write down the allele designations

L - lone L ” ruww/f
Second: Write down tze actual cross
oL x  LLf

Third: Organize your Punnett square

/
L L v/ Ll

L /_L_’:lﬁi/ v/ i

“ourth; Count out the phenotype ratios — S2 7o Lo J

o7 ovd

- the round and oval
First: Write down the allele designations

Second: Write down the actual cross
. ‘7 S
p-L L x L
Third: Organize your Punnett square
L

o )
: o/ LL
l LLf/"/—] . ,/
L LU a0t

4

Fourth: Count out the phenotype ratios

Sv/ @%} Rov-d
éhﬂ /., OVJ



MENDELIAN GENETICS
LEVEL 5
- the long and round
First: Write down the allele designations

Lty L7 e

Second: Write down the actual cross ,
/7 . L L =~ L'L

Third: Organize your Punnett square

¥

L/Z_Z7 po0 2 L
e

Fourth: Count out the phenotype ratios — /Y7 OVJ ’

- the oval and oval
First: Write down the allele designations

L" /9»3 L - '“W""'

Second: Write down the actual cross
) /
Li > L L

Third: Organize your Pumnett square

257, LL
Sv/l LL’
287 L]

Fourth: Count out the phenotype ratios — 257, LM'J )

¢} Try a cross between:
- the long and long
Li x L.t~
U

’:". lv‘(}“/lz LL‘ L;)/n),

- the round and round
<y /
L { L f ,": L’ L.

Foorov’ L't - Rov-d

g5t (A
. ﬂy/i 0VJ/ Z‘>



MENDELIAN GENETICS
LEVEL 5
2. In Shorthorn cattle, the heterozygous condition of the alleles for red coat and white coat is roan
coat. What would be the phenotype possibilities of progeny (offspring) of:
(a) a roan Shorthomn to a red Shorthorn
First: Write down the allele designations

lg - ed Rl
Second: Write down the actual cross
.2 <=3
(7/ : RR =~ RR

Third: Organize your Punnett square

< F E"i} sy, AR
;’(’CE e ) sy ~EY

Fourth: Count out the phenotype ratios - sz v, Koct Co e S0 Sfoen b

(b) a roan Shorthorn to a roan Shorthomn
First: Write down the allele designations

Ced ¢ é,) T

Second: Write down the actual cross
, o /
5 L RR x LR

Third: Organize your Punnett square

'Y

Fourth: Count out the phenotype ratios
DS/ Yo
SU7 IR

567 s



MENDELIAN GENETICS
LEVEL 5

3. When platinum foxes are crossed together the offspring usually appear in the ratio of 2 platinum
foxes to 1 silver fox. When a pure white fox appears from such matings it always dies shortly after

A » T
being born. p’ S, [w~ (D Y P }¢ ’
a) What type of cross do you think this might be? [rne o tle Dosmene

b) What evidence do you have for one of the alleles being lethal? - ét/h fe [ res

¢) Do the punnctt square cross for a platinum fox and a sitver fox, -
First: Write down the allele designations

) P‘ Sl.“"f( Pi \«»/L‘k
Second: Write down the actual cross
Q ] D 4 i !
n: P x Pr

Third: Organize your Punnett square

PP o - Sihver
. AN i
P [Pf /f’f’{{ Sv4 P~ flidnen

-~ i sy, //;"/7/:./4«\
Fourth: Count out the phenotype ratios — S22/ S lyew  SWL ‘

d) What evidence is there for the white allele being dominant or recessive?

Jrcompetely cJorminink bic oF 3"‘4,”"’*""”'7#&

3. A man with type O blood marries a woman with type AB blood.
First: Write down the allele designations

N o —A —_— >
(- (O 17 - A A - B
Second: Write down the actual cross
(L X L4
Third: Organize your Punnett square

T* Te

c [ T[T

Fourth: Count out the phenotype ratios

( P/A)lﬂfw oy )

What percentage of their offspring will have:

-
2

a) type O blood Q £
b) type AB blood oXE
¢) type A blood s/
d) type B blood S/



MENDELIAN GENETICS
LEVEL 6
1. Blood typing is used to determine the parents of two infants in a hospital nursery. Baby #1 is
type O and Baby #2 is type A. Given the information below on parental blood types, determine the
parents of each baby.

. Mr. Long Mrs Long o Mr Short_ AR Mrs Short .
ce ypeO) -~ (type AB)V (type AL’ - (typeB) L "¢

T Lo
Bebyt 2~ Type A. BEA G 8 L - Type ©

2. Four babies were born in a hospital on the same night and their blood types were found to be
types O, A, B and AB. The four pairs of parent werc the Smiths (types O & O), the Browns (types
AB & O), the Whites (types A & B) and the Greens (types B &B). Prove your choice for the
parents of the baby with type AB. b
PN ‘I/L N \\—3 v O’ﬁl C;’J.S} .
Whike — 17 /
AN T

: 4 g ger o
\JO/ ']w AB Lﬁb\/‘
1°T® Jee

3. If a man with blood type B, one of whose parents had blood type O, marries a woman with blood
type AB, what would be the theoretical percentage of their children with blood type B?
First: Write down the allele designations

Second: Write down ﬂ’/f actual cross 3
. alls ; -—A -~
7 L L. o x L L
Third: Organize your Punnett square

" T

L\L,.‘_ /)ﬂd

Fourth: Count out the phenotype ratios [SV 7. 7/ e L2
U




MENDELIAN GENETICS
LEVEL 6
4. Red-green colourblindness is inherited as a sex linked recessive trait. If a colourblind woman: ﬁ
marries a man who has normal vision:

a) Do the punnett square for the possible genotypes of the offspring,
First: Write down the allele designations

/ ' j
ﬂr ~ &’\()f'/"“'i A - C‘)IJV” l"l:"’c}
Second: Write down the actual cross
, AL A
P\ XX = X 7/
Third: Organize your Punnett square

Xty

ORI

| . /i o/
Fourth: Count out the phenotype ratios — S ¢ /- ’\/*‘""'"“f C‘lz

- =~>7;/ ca/';wi)z;J 6,‘777

— 77?7 b en
b) What percentage of the children would have colourblindness? Q © /J = b l‘[r‘
¢) What percentage of the boys would be colourblind? carriers of colourblindness? Qﬂ” .

d) What percentage of the girls would be colourblind? carriers of colourblindness? inwa¢ cdo bl nJ/ ol [ Cerorsos .



MENDELIAN GENETICS
LEVEL 7
1. Suppose gene b is sex linked, recessive and lethal. A man marries a woman who is heterozygous
for this gene. If the couple had many normal children, what would be the predicted ratio of boys to

girls?
First: Write down the allele designations

(- Aormed b leitd

Second: Wnte down the actudl Cross

V\ XX’“XV

Third; Organize your Pémnclt square

Fourth: Count out the phenotype ratios
5ot neend & »
4 fom gt
257, — avnd I Ril whe g
25/, - Iz%j 0

2. A woman’s father a hunoplnhac (a sex linked recessive trait). Two of her three brothers as well
as an uncle on her mother’s side are hemophiliacs. The woman marries a non hemophiliac man.

,/\ 7=

. *‘-— Y N )'\" la’\Ll"'-'f’ pleevy
a) What are the possible genotypcs of:
the woman )& X her husband Y \/ her father X 7

i (3 Hoh
her brothers 2§ 7 < X Y her uncle x Z her mother )( X
Rk

b) If the woman has a hemophiliac son, what must be her genotype? — },.1. ., Ty govs - X X
¢) If the woman has a daughter, what is the probability the daughter is a carrier? <o
. vl

3. A family of four children has one hemophiliac daughter and one hemophiliac son. Determine the
genotypes of the parents and all four children.

5 h XL\
e X X

XY
et clmv\j\" Y- = X N X

= H 7/
A\ S AN

G

hem «p‘" liec é)“"JW

N Se¢n

9]

2 S /. L)erruf)"cttic 9/ 077
257 ol homphile
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4. A man and his wife both have normal colour vision but a daughter has red-green
colourblindness. The man sues his wife for divorce on the grounds of infidelity. You are the judge.
Prove whether the man has a case or is mistaken, ‘
First: Write down the allele designations

A- /\,;’r-vc-i O~ - Colperm L.lm,

Second: Write down the actual cross

P XAxs - Y

Third: Organize your Punnett square

AA > X ‘TL(’L is no /'g;,;)sl.éa wcg 71\)
e} o colsorblind Bads besed

o~ ‘ J ]

' s croms 5 the men

[ 20

x|

L.'.u “ocase
Fourth: Count out the phenotype ratios

b Nondd @
257 MNord o
2 C'/; Cal“."«él/’vj (f’
‘5. A woman heterozy gous for Duchenne muscular dystrophy (a sex linked recessive trait) marries a

man without the gene for this genetic disease. P22y
First: Write down the allele designations

D* nG;*NJ d - i’\'vu)'(,.;/ le ~ A:]J/"‘UFL-& .

Second: Write down the actual cross
P xOxd o« XOY
Third: Organize your Punnett square
x” N
DT
x>\ exe ey |
.C‘ D -cl d (
X° 1)4 x| XY

Fourth: Count out the phenotype ratios

257

a) What percentage of their children will have the disease?

b} What percentage of their sons will have the disease? SU7e oF gons
¢) What percentage of their daughters will have the disease? ene

__aene
d) What percentage of their daughters will be carriers of the disease? 7% f ocleslbes

Sv/. rw"f"”‘l 612
I e
257, clyxh’v,a"/ o
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LEVEL 8

1. The fruit fly has a dominant gene for grey body colour (G) and a recessive gene for black body
colour (g). There is another dominant gene for normal wings (N) with its recessive allele producing
vestigial wings (n). Flies heterozygous for grey bodies and normal wings were crossed.

. Car. N o Na
a) Do the punnett square to determine the expected phenotype ratio. P, . 6‘3 No (’?c}
Cf)’\f‘ (7' n “ }

T T2 10 % GoN_=gey ot

—

© ga N— 2 blad s .
3t 93

ST G nn =2 57" Ve)',”‘é"-“ﬁ

b) The observed results w |7 ggne D g black *‘vwkyvj
grey body, normal wings 246
black body, vestigial wings 80

What type of crossing might account for the discrepancy between gbserved and expected

results? \TDJAV CQ):}U!’ f wrung S"\hﬁ- e in (J . [a)%] ‘}}\e Scaame C}’)mmmﬂ)_

c) If these genes were to be located on chromosome #3, draw the chromosomes with the
genes attached.

d) If the observed results were:

grey body, normal wings 220
black body, vestigial wings 70
grey body, vestigial wings 19
black body, normal wings 18

~ What type of cross would this most likely be? gfjl,, boid cooss s £ ( GQNO x C"; N )

\
How would you defend your choice? ,uwe ver

§ ) L\l/f /;_,}/«,, ‘1/"*”Z hein //:x e
'H‘Z% are  Skg _ s uf”éfél( A C/,.»)j
ol on shghFp



MENDELIAN GENETICS
LEVEL 9
1. The fruit fly has a dominant gene for grey body colour (G) and a recessive gene for black body
colour (g). There is another dominant gene for normal wings (N) with its recessive allele producing
vestigial wings (n). Flies homozygous for grey bodies and normal wings were crossed with flies
that had black bodies and vestigial wings.

a) Do the punnett square to determine the expected phenotype ratio.
First: Write down the allele designations

| ‘ S s
G"%’"“Q j— 'Oic\c}&'r u - na,ﬁ.\J wxns;\ N~ \,gyézgiijf i 5
Second: Write down the actual cross

Third: Organize your Punnett square

14}

6N [og- |

Fourth: Count out the phenotype ratios

\‘50 a/7 Glrcaz L,Wk\? )’\j%’"“rj ‘/\)lan.

b) The observed results were:

grey body, normal wings 236
black body, vestigial wings 253
grey body, vestigial wings 50
black body, normal wings 61

Given this information, what type event has occurred for this ratio to appear?

(5) t (\/ 0\//2.[2) ere [%z‘f/y o lose /:};J-h/ ;a,t

‘ S Lss,
]LL“/ Sarmi Cl')f'am.;fjwfn@, _§(;.m¢ /;r (L)«}V'\ é\/[e

\ ( o A, Jo'"‘?).
."’a /(/, LeJ 74’6’4}725 (//g ,w?Z /ncjé/s’@ﬁC/c-/\?[/y 5



MENDELIAN GENETICS

LEVEL 9
1. The crossing over frequency between linked genes
Aand B 40% -
BandC 20% -
Cand D 10%
Cand A 0% 7
Dand B 10%

What is the sequence of genes on the chromosome? (Draw the cromosome)

(A ¢ Do @)

..

2. The crossover frequency between linked genes

Aand B 10%
BandC - 0%
Cand D 0%
DandE . 60% v
Dand B 0% v

What 15 the sequence of genes on the chromosome? (Draw the cromosome)

€«  ne D)




PEDIGREE <o)
LEVEL 1 o oFRded

1. Examine the following pedigree and fill in the list that follows:
I

n D_lJ>.L4H—_1
T hdd |

List all possible genotypes for individuals:
LoaxXIX® XY
b axx s XY sx
6 X N - . ,
m X LY XY KX s XY
| s XU X 1 XX s XY
2. The above pedigree is tracing a sex linked trait. What evidence is there to support this premise’

e SJ/L/ 07) ove c.m{}a'\ .

3. How might the pedigree have appeared if the trait was autosomally inherited rather than sex

linked? ‘ o
Mot evén a-‘ s Lv?}ﬂon O‘D Oﬂ & 2 mpfe(,{'fﬂ‘



PEDIGREE
LEVEL 2 A o N
1. Examine the following pedigree and fill in the list that follows: T -ne ‘
Rk

‘ ' T »

y B O H o]

1 2 3 4 5 13
mCl) 4 4 CL
; ? L -
List all possible genotypes for individuals:
I 1_QQ 2 Ra

I 1 O 2_Aa 3_Pa 4_GOn 5 G
6 ﬂ st Ll(-aalvé .
1 A a0 3 a4 ha s Ao

6 Nan 7 Ao 3 Aa

2. What is the importance of a pedigree in predicting whether an individual will have a genetic

disease? X?u Ccerm “I'FG‘CX/ (o ""’0" 4_":”" bCQ(‘/ ‘( Mve‘fc«,o Sanc ~e 6"4 <

‘}ﬂ? a‘e‘»lfrmlnv; mode 0'p lnL@fa"ILm%.

3. What value might a pedigree have in determining whether certain individuals without a genetic
disease may have children with a higher chance of having the disease?

T‘l’ Cein ()&«‘L&’f’”‘ml ,’)‘“J‘L’OC“J UF )Jk’/l“j v Cgarrt €7
er = 0%'&-9:0\&,6 é by\,_ qua‘}* ocﬂizomc} moﬂ Le

A Fcﬁxr’J’\ Cv\ cr OiresS,
1

F(; (;}} ,:)Le. éj 1 \/e"-',>



